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SINGAPORE CHINESE GIRLS' SGHOOL

FIRST SEMESTRAL ASSESSMENT 2012

PRIMARY 5 -

MATHEMATICS
PAPER 1

BOOKLET A.

Class “: Primary

_ o Marks attained .| Max Mark: | Parent's S_iéngture:
Paper1 | BookletiA. 20" ' ]
. Booklet B 20"
Paper.2 - ' .. 60
Total Marks | 100
15 Questions-
20 Mairks.

Total Tiine for Booklets A and:B: 50 imin: -

- INSTRUCTIONS TO.CANDIDATES - .

Do not opencthis booklet untityou.are to!d to do.so..

- Follow afl mstructlons carefully

Arswer all questions: -
You are hot allowed fo use a m!culator




Booklet A -

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. - One of them is the carréct answer

Make your choice (1 2, 3or. 4) Shade the correct oval (1, 2, 3 or 4).on the Optical
Answer Sheet. (20 marks)

e

1 !n'24_5 380.19, what does the digit-9 stand for?

(1) 9 hundredths
(2)' 9tenths-

(3) 9Yones

(4) Stens

2 How many eighths are there in 2%‘?

(1 15
@ 18
(3 21
@) 25
3 330303 = 300000 + 3@@00 + . + 3

What i is the' mlssmg number in the box‘?

(1 o

@ 30
(3 300
@ 303.




6290 is 10 téns less than |

(1) 6190
(2) 6280
(3) 6300
(4 6390
33 % 0=

(N 30+2+1 =10

(2) 30+3x%10

(3) 33%x5%5

(4)  (30%710) +(3x 10)

M7=
7
(1) 34
4
2) 3;
6
3 4:]“
{4) .'.?.;-307

Theplice of a car was $82 ‘000 after being rounded off o the néarest thousand.
- Which of the following can be the originat price of the car?

(hh  $81.400
(2) $81499
(3 $82.499
(4) $82505



8 Find the ratic of the numbér'of soccer balis to the riumber of ¢ones of ice-cream.
Express your answer in its Simplest form.

98180 Q€ _
QDD

(1) 1:2
@ 2:1
3 4:8
@ 8:4

9 '%‘"’-;4.4 is thesahe as -

(. %%
@ ot
@ %3



Which of the following is the same as 7080 g?

(1  7kg- 9g
(2) 7kg 90 g
(3)- 70kg. 9g
(4) 70'i<g S04

Study the pattern bélow.

1.2 3 4 1 2.3 4 1t 2 3 ... ?
15t |

What will be the 354" digit? -

.
@ -
3)
@)

n oW N o

Tom ran a-distance of %km and.Jane ragn.'% of the distance Tori ran. What was

the total distanqe'ran by both of them?

@ = in

2)- I%'km

@ ipkm

(4 1—2}1@: | , : e -



13

14

The'total length of-4.ropes is 1020 cm. ﬁe.lqng_th of one of the ropes is 150 cm.

What is the average length of the other 3 ropes?

(1) 190cm
2) 255 cm
@  290em
4 340 cm

The postage charge for sending a parcal within Country J is shown below.

Fifst250 -

$6760

Additional 1259 or-,{aéi‘t-..théréof '

C$325

What is the postagé charge for sending a pares '\’_ruhicﬁ'y\.iéigh'_'s._"l.‘SOO g to Country

g2
(1)  $82.50
2 $38.10
3 6660

4. $6265




- SINGAPORE CHINESE GIRLS’ SCHOOL

FIRST SEMESTRAL ASSESSMENT 2013

PRIMARY 5
MATHEMATICS
‘PAPER 1
BOOKLET B
Name : ' L )
- Class : Pri;r':ary
Paper 1 . Mark attained NMax Mark
Booklet B 20

15 Questions
20 Marks

Total Time for Booklets A and B: 50 min

INSTRUCTIONS TO CANDIDATES

Do not open this booklet until you are told fo do so.
Follow all instructions carefully.

Answer all questions. ,

You are not allowed fo usé a calculator -



Mary has’a thick piece of rectangular v{/ood. She took 4 mindtes to'cut.it into 3
eq,ira!.piece,s. How long does it take for her to cut it into 12 equal pieces if she

takes the same amouﬁt of time to cut each piece?

Note: ‘Tﬁe cuts 'were made in the same direction as shown below.

Time Taken: 4 min Time Taken:-.? min

Number of pieces: 3 pieces Number of pieces: 12 pieces
P RN RN
Wood . ' Wood
() 12 miin -
(2) 16-min
3). 22min
4 . 24min




Booklet B . _
Name: : { )

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (10marks)

16.  Wirite 3 782 456 in'words.

Ans:

17. 24000 +60=

Ans:
“18. 18-2x3+24+2=
" Ans:
N | 7 .3
19.  Find the difference betwesn STE and 2—5,
Ans:

Do not write in
this column




20.  Use ail the digits below to form the greatest 7 digit odd number. You can only

use each digit once .
Ans:
11 . -
21. Express 2— asadecimal.
25 _
Ans:
22. Express 10 km 5 m in metres.
Ans: mi.
23.  What are the commion factors of 30 and 48?
Ans:

Do not write in
this column




. 24.  The number of gifls Tn class 3P is % of the total number of boys and girls in E?s'::c::uw;:? "

class 3P. What is.the ratio of the number of boys to the number of girls?

Ans:

25.  Study the figure below. How many more squares must be shaded so that only| -

%—_,of"the figure is left unshaded?




Questions 26 fo 30 camy 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated: '

{10 marks)

26.  When a number is divided by 7, the quotient is 472. What is the quotient when
the same number is divided by 87

Ans:

27. Complete the number pattem below.

Ans:

28. Tommﬁ' is 6 years old. His mother is 24 years olderthan he. in how many
years' fime wili Tommy’s mother be four times as old as he?

DO nof Wﬁté fr.
this column

10




SINGAPORE CHINESE GIRLS’ SCHOOL.

FIRST SEMESTRAL ASSESSMENT 2013

PRIMARY 5
MATHEMATICS
PAPER 2
Name: ' _ ()
Class : Primary 5
Mark . MacMark Pai'ept"s Signature
Paper 2 ' | | ' |
rap 60

18 Questions
60 -Marks.

-

Total Time For Paper 2: 1th 40 min .

INSTRUCTIONS TO CANDIDATES ™ e =

Do.not open- 1 {his booklet untliyou are told fo do- S0.
Follow all instructions carefully
Answer alf questions.




29.  Complete the figure using the dotted tine as the line of symmetry. z?snc(::tl:gt: "
I
30.  Find the perimeter of the figure.
A,
. 5cm
20 cm ) ) ,
Y
) 25 om i
Ans: 4

11,




Ans:

The line graph shows the number of dogs sold at a shop in the last 4 weeks.
How: many more dags were sold in Weéek 2 than Week: 3‘?

Numbet of dogs sold
250 +
200 -
150=
. 50
0 = ¥ T X L] 11 - 's. " T ] =
' 1 2 3 4

Ans:




’ Queshons 1 to 5. cany 2 marks each. Show- your, workmg clearly and wnte your Do not wite ir '
answers in'the space prowded For quéstions which require units, give your answers | this columa
in the units stated.

(10 marks)

1 Ashley bought 385 marbles. She packed all the marbles into boxes of 8 with
some left unpacked. How many marbles were left. unpacked?

Ans; -

2 A watch and a'pen cost $38.50. A watch and a teddy bear. cost $68.95. A pen”
and & teddy bear cost $39.99. Firid-the fotal cost 6f'a watch; a pen and-a teddy
bear. : '




5 Joyce had 168 beads: She gave —of her beads fo her friends, Valerie and Do not wite in
3 : this column

Jane. Valerie and Jane received the same number of beads from Joyce.

How many.beads did each friend receive?

Ans: . .
: 2




For questions 6 to 18, shaw your working clear!y and write.your answers in the

spaces provsded 'Ihe number of marks awarded is shown.in brackets [ Tat the'end
of each questlon or part-question. (50 marks)

6  Joan, Mabel and Grace p:cked up 902 seashells from the beach. The mass: of

50 seashel{s 18 - kg Whatis the fotal mass of the seashells they had picked?.

Express-your answer-as a decimal, correct to2 decimal places.
Give your answer in kg.

Ans:

531 ]

7. BoxAcan hold either 60 small books or 48 big books. If there are already 10

smalt books. and 12 big books in Box A, how many more big books can.Box A

stiil hoid‘?

Ans:_-

'.[3] N

[ D0 not write in

this cotémn




8 -g}of'spectators at a basketball match are children There are 360 more Do not wiite in

this column
adults ¥han children. The ratio of women to menis 2: 7 How many more

men than women are there at the basketba!l match?

Ans: [3F-

Janeé bought some stickers i in-her school btmkshop and decided to share some|
with her friends. If she gave each friend 15 stickers, shié.would have 6 stickers

left. If she gave each of thern. 17 stickers, she would be short of 4 stickers.
How manv fr;emds did Jane have?

Ans: 3]
. _ 6.,




10 The table below shows the number of péople and the number of passes in

L

Do not write in

- . - . this column
Driving Test in 4 driving centres. -
(&) Which centre has the highest fraction of passes in Driving Test?
(b) What is the overall fraction of passes in Driving Test for the 4 centres?

Driving Centres Woodiands } Jurong. Céthay Bedok

Number of people. 250 360 380, | 220

Number of passes. in Driving 210 210 210 510-

Test

Ans:a). A
b) (2]

11 May ‘and Faith had the same nu_mberabf. beé'd§ at first-:M:ay.-gave %of her

beads’away and Faith gave % of her beads away. May had 15 beads less-than '

o

Faith after that. How many-beads did May give away?

2|




12 Adress cosf twice asmuch as a skirt. A jacket cost 1—;— times as muchas a Da not write in

this column
dress. Mrs Wong paid $1360 for 2 skirts, 3 dresses and 4 jackets.

- (a) Find the cost of a skirt.
(b) Find the cost of a jacket:

Ans. ) : [31
B _ 1.

13 - Ciara bought 340 red and blue pens —of the red pensis equal to ;of the

blue pens If she pald $1 25 for each red pen, how much dld she pay for all
the.7éd pens?.

Ans: {41 e




14 Zoe uses % of her money to buya dress and -3— of the remaining amountto | g witeln «

by some’ magaﬁnes- After that, she uses % of the rest of the money to buy

a present. If she has $54 left, how much money did she spent on the
magazines?

Ans: {41




15 . The ratio of the number of chickens to the number of cows on a farm is Do notwrde in
this cof
7 5. These animals had a total of 272 legs : o

(a) How many chickens are there on the farm?

(b) After selling s_dme chickens, the ratio of the number of chickens -

to the nusmber of cows left became 9 : 10. How many chickens were
sold? '

Atis:.a) - ‘ f|
b) ’ 12 |




.16 Noel @nd Kim went shopping with $360 and $240 respéctively. Kim spent ] " Do not wiitk in -

) Lo o this col
thrice as much as Nael. After shopping; the amount of money Noe! had left o
was thrice that of kim. How much did they spend altogether?
Aans: M
4.

10.




17 The following patfems are made up of whité dnd coloured dirclés. ~ uo;énot‘wﬁte in
. is column
s - N .- N/ aBINE
Figure + Figure 2 . Figure 4
(a) How maiy white circles will thefe be in Eigjure 887
(b) How many coloured circles will:there-be in Figure 887
(c) Which figure is made up of 144 circles? |
Ans: a) 1
b) 12]
c) . 172 B
. /s

11



18

Tom. has 2 bags of rubber balls. Bag A contams 192 more rubber balis than
Bag B. Tom transfers 570 rubber balls from BagAto Bag B. Now Bag B
contains; 4 fimes as many rubber balls as‘Bag A. How miany rubber balls are
there in each bag at first?

Ans=Bag _-A-_ [31 ]
Bag B 2]

Do not wrke fi.
this column”

End of Paper
— CHECK YOUR WORK CAREFULLY —

12




Exam Paper 2013 Answer Sheet

School: SINGAPORE CHINESE GIRLS’ SCHOOL
Subject: PRIMARY 5 MATHEMATICS

Term: SA1

Paper 1

1) 1 6) 3 11) 2

2) 3 7) 3 12) 3

3) 3 8) 1 13) 3

4) 4 9) 1 14) 2
15) 4 10) 2 15) 3

16. Three million, seven hundred and eighty-two thousand, four hundred and
fifty-six

17. 400
18. 24

19. 2%

20. 8653201 |
21.2.44

22. 10005
23.1,2,3and6
24.4:3

25.5

"26. Theno.is > 472 x7 =3304
Quotient > 3304 = 8 = 413

27.845-82=0.25
7.7-745=025
8.2-0.25=7.95 ' e -

28.3u—> 24
1u—=>38
8—-6=2



ey




29.

30.25x2=50
20x2=40
50+40=290

Paper 2

1. Left ‘unpacked 2> 385+9=42R7
R = left unpacked
Therefore 7 marbles were left unpacked.

2. 2 pen + 2 watches + 2 teddy = $38.50 + $68.95 + $39.99
o = $147.44
$147.44 + 2 = $73.72

3. Time aeroplane depart Spore in hrs = 2.35 a.m. — 3h = 11.35 p.m.
Time aeroplane depart Spore 2 11.35 p.m. — 50 min
= 11.00 p.m. — 15 mins
=10.45 p.m.

4. 225—-150 =75 dogs

5. Gave friends = 168 x ¥ = 56 beads
~ . Left > 168 — 56 = 112 beads
Fach = 56 +2 =28 beads

6. ¥s=1kg

1kg=1000g
1u->1000+8=125¢g
% >125x3=375¢g .
50 seashells > 375 g ' AR
1 seashell > 375+50=75¢g
902 +50=18R 2
18x3756=6750g
7.5x2=15¢
6750 + 15 =6765g

=6.765 kg

=6.77 kg






7. ®leo=%
%x10=8
48 — (8 + 12) = 28

8. 3u > Children
8u—-3u=>5u
Su 2> Adults
5u—3u=2u
W: M
2:7
2u 2 360
Tu—>360+2=180
Adults 2 180 x 5 =900
7+2=9
1 part > 900 +~9 =100
Women - 100 x 2 = 200
Men.2> 100 x7 =700
Difference - 700 - 200 = 500

9. 17-15=2
4+2=2
75+ 6 =281
85—4 =81
6+4=10

- 10+2=5

10.(a) Bedok

(b) Total passes 2> 210 x 4 = 840
Total no. of people - 250 + 360 + 380 + 220 = 1210
Overall fraction = 4424

11.3%4-1%B= 5I12
/12 of beads > 15 beads
Y42 of beads. > 15+5=3
« %z-of beads > 3x9=27

12.(a) Total units > 2x1+2x3+4x3=20
20u > $1360
Tu <> 1360 + 20 = $68 (Cost of a skirt)

(b) Jacket > 68 x 3 = $204

- 13.340+17=20

10 x 20 =200.
200 x 1.25=$250

14.1u> 54 -3=18
18 x 5 = 90
90 = 3 = $30






16.(a) 7x2+5x4=34
No. of sets > 272 +34 =8
No. of chicken > 8 x 7 = 56

(b) Chickens : Cows "
7:5
14:10
9:10
14u—-9u=5u
40+10=4
56+14=4
4x5=20

16. A - Spending
B > Left '
Noel: 3B + A= 360
Kim:. B+ 3A =240 '
3B + A=360-> 9B + 3A = 1080
1080 — 240 = 840 '
8B - 840
B> 840+8=105
240 -105=135
135 =3 =45
45 x 4 = $180

17.(a) 88+ 1=89

(b) Fig 1: 1x(1+1)=2
Fig2:2x(2+1)=6

Fig 88: 88 x (88 + 1) = 7832

(c) Figi:4circles=2x2
Fig 2: 9circles =3 x 3

Fig 11: 144 circles = 12 x 12

18.570 - 192 =378
570 + 378 =948
3u-—> 948
1u > 948 +3 =316
(a) 316 + 570 = 886 (Bag A)
(b) 316 + 378 =.694.(Bag.B)
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